
Statistics 300 Summer 2007
Quiz #5 5i30-7:50 o.m.
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1 . The customeG of a particulaa car dealer can choose from 4 d iffercnt
model6 of car, so each customer has 4 possible choices; calt theh A,
B, C, and D.

(3points;4mlnules)
(a) Consider the choices made by the next two customels. What is the

sample space foa the next two choices (list the events, forexample:
{A,C}, but you do not need lo include the bmces { } }. Since the choices
repnes€nt diffenent customers, {A,C} urould not be the same as {C,A}.
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(3pointst3minutes)
(b) For yoursample space (above), 6ome of the choices are more

popularwith customers than rre otheIs. It you pick one ot thc
elements in your sample 6pace at 6ndom, what is the probability
that you will pick the choice that is most popularwith customeG?
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2. Based on the table on this page. answer the probability question6 (a) through (d)

Choice
Venclor Row

f --T- -6--T--d--T--6-lrota ts

Plain 130 123 138 125 519

Latte 40 53 73 58 224

Mocha 80 74 39 64
Column
Tote!s 2& 250 250 250 1000

Stat ist ics 300 Summer2007 < l  / t
ouiz #s s:30-7:s0 p.m. N"r", JU.f1.!40-

c ""713 5r
0w

{4 pointsi 4 minules)

buys coffee from Vendor B ?

(3 po ntsi 3 minules)

(2 poinls; 3 minules)
(a) What i6 th€ probability that a randomly selected person from those
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(b) What is the probability that a randomly selected person from those
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(c) What is the probability that a randomly selected person from tho6e
renresented in the table vJil! be one $,ho choos€ mocha or one who
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(d) What is the probability that a randomly selected person from those
ra6ra<.nf..l in th. r:hla will n^r ha cnma6he wh6 h'rwc ltfta. fr.h

v€ndorA? 
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